Losungen der Uibungsaufgaben von Seite 11

Losung 1
Wertetabelle:
s=1m

Gesucht:
hinm
Ain m? c

Lésung:
Hier kommt zunéchst der Satz des Pytha-
goras zur Anwendung:

a’+b?=¢?
a=%s
b=h
c=s
2
<%s) +h’=¢?

4

2

h=+v1m?-0,25 m?
h = 0,75 m?
h = 0,866 m = 0,87 m H6he

_s-h
A= 2

1m-0,87m
2

A=

A = 0,435 m?Fliache

Losung 2
Wertetabelle: b
c=15m 7]
b=12m ¢

Gesucht:
ainm
lyinm
Ainm?

Losung:

a’+b*=¢?

a’=c’-b?

a=+c*-b?
a=(1,5m)*+ (1,2 m)?
a=09m

ly=a+b+c
ly=09m+1,2m+15m
ly = 3,6 m Umfang

_a-b
A= 2

09m-12m
2

A=

A=0,54m?
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